Quiz 1
ID#: Name:

p,q,r 2, x % p,q r Ot E T %, Let p, ¢ and 7 be statements and = a compound
statement of p, ¢ and r.

1. TOHEMERZEHAE L, Complete the truth table below.
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2.y=(p=r)A(g= 1), 2= (VA (pVr)A(gV-r). IELWHDZFEX, Choose the correct
one.

(a)y ==z (b) y = -2 (c) £E5TH %\, Neither of (a) nor (b).

By=p=rAN(g=-r) 2z -t Vvt fHREZTz2HTEE, Express y using -, V and
perentheses only.

4. LOEBRERO—FLDI ¢ 2R THwBAH D L)1, TO FTHROIMTIS, -, A, Fid, vV
ALK, 2L T B EFTOYD BB FIdLz v, (Fill each underlined blank with =, A or V to
express x in the truth table above. There may be voids.)

Message il : FER D, 25 D H AT IO VT, HHEIZDWT, What is your dream? Describe your
vision of yourself and the world 25 years from now. ("HP #8#A 1], (ZHELD T, If you don’t want
your message to be posted, write “Do Not Post.”)



